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i)

a) Explain briefly, different ways in which premium rates can be loaded for
policyholders at the time of renewal for a medical reimbursement policy? Give at
least one example of any such structures that were found favourable with each of the
life insurance and general insurance companies within the Indian insurance Industry
in the recent past.

b) Under the recent regulatory changes proposed by IRDA for health insurance, it was
suggested by the regulator that the insurer will have to give justification along with
supporting documentations such as last three years' claim experience before revision
of premiums for filed products, explain a few of the reasons for this approach by
IRDA?

i) A large standalone health insurance company is considering selling a portfolio of

healthcare in territories other than India, what are the issues the company needs to consider
before implementing its decision?

ABC Insurance Company is considering a risk transfer strategy. Assume the role of risk officer
for the company:

i)

i)

Discuss the ways in which reinsurance can be used to control risks

Describe the advantages and disadvantages of Alternative Risk Transfer products.

The Chief Marketing Officer (CMO) of a general insurance company wants to introduce a
new medical reimbursement health product. As an appointed actuary of the company, you
are preparing for your meeting with the CMO:

a) Describe a process for evaluating the need for a product.

b) Describe factors to be considered when establishing a network provider.

c) Describe measures for evaluation network performance.

List factors to be considered when choosing lapse assumptions for pricing individual
medical reimbursement insurance and describe characteristics for each factor that may
have an impact on lapse rates.

Group Health Insurance is used as a financial security tool by Employers to provide for
their employees’ healthcare needs. In the recent times, the change in lifestyle and
increasing medical costs has made it difficult for Employers to keep pace with the
galloping medical insurance premium bill to provide for this responsibility.
As a group health actuary, you have to describe the key challenges that are faced by the

employers and how these can be dealt with through the help of your company’s initiatives
to the group sales head.
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XYZ General Insurance Company is in the process of launching a retail pure indemnity health
insurance product with SI of Rs 5,00,000/- per policy with no individual rating factors. Only one
life can be insured in one policy. It estimated the following regarding this product for the next
one year from the date of its launch:

i)

Annual frequency of claim will be 10% per policy.

Severity of the claim will be Rs. 30,000/-

It plans to sell policies through agency, brokers and also direct sales force. As per the
estimate of marketing department agency will contribute 50% of the total business and
will be paid commission @ 10%. Brokers will contribute 30% of the business and will
get brokerage @ 12%. The balance of the business will be sourced by direct sales force
and there will be no variable cost involved.

Amortized annual cost for underwriting and policy setup are Rs. 200/- per policy.

Claim handling expenses are 5% of total claim outgo.

Company follows a practice of charging 6% Management Cost for various overheads.
The percentage is applied on total claim outgo including claims expenses and
underwriting and policy set up cost.

XYZ General Insurance Company has a profit target of 4% of total premium from this
product in the first year which takes care of cost of capital and investment income.

Service tax on premium is 12% and surcharge on service tax is 3%.

You are requested to arrive at per policy premium to be charged including service tax for
this product in the first year ignoring any other information not given in the question.

Assuming that the Company is able to sell 50,000 policies in the first year, prepare a brief
table giving total inflows and outflows on various accounts verifying your answer in point

(i).

Just before the product launch marketing team feels that we may have to spend extra Rs.
50 Lac on the promotion of this product in the first year to make it a success. XYZ General
Insurance decides to forgo the profit from this product in the first year on account of the
new expense items but feels that it must not make loss either. How many policies it must
sell in order to break even in the first year of product launch considering the expense of
business promotion and other details given in the question provided that the premium you
arrive at in point (i) holds good.
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Q.5) ABC Health Insurance Company Limited is a Standalone Health Insurance Company dealing in
health insurance products allowed in India.

i) Please give description of the major heads of Assets and Liabilities of ABC Co. giving
their nature?

i)  What do you understand by matching Assets and Liabilities by duration?
iii) Is it essential for ABC Co. to match its Assets and Liabilities by duration?
iv) What are the implications if the Assets and Liabilities are:

a) Exactly matched by duration

b) Not matched by duration

v) What can be an alternative tool to matching Assets and Liabilities by duration which can
help ABC Co. in controlling risk of mismatch in Assets and Liabilities?
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